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Answer All questions.

1.

x—2=y+95=§ and x+1=y—6=2+3

and obtain the coordinate of the point of intersection.

a) Show that the two lines intersect

b) Find the Cartesian equation of the plane through the point (1, 3, 2) and parallel
to lines with direction vectors i + j - k and 2i - 3k.

¢) Are the four points with position vectors —a -+ 4b - 3¢, 3a + 2b - 5S¢,
-3a + 8b - Sc and -3a + 2b + ¢ coplanar? Justify your answer.

d) Find the Cartesian equation of the plane P, through point 4 (1, 2, 1) normal to

2i - 3j + Sk. Hence find the perpendicular distance from the origin to the plane
;2

a) Let the vector valued functions F(¢) and G(¢) be defined as

F(ty=(Q2=1)i+ TLSZ+ (sin 2¢)k and

G(t)=t?i+~t=1j+In(t - 2)k.
1. Find the domain of each F(¢) and G(¢).

ii.  Find F(r)xG().

b) Find the limits of the following vector valued functions, if they exist.
Otherwise, state that the limit does not exist.
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